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Section : Mental Ability
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Question ID : 7230532974

Ans 1. 65
v'2 69
X3 70
X472

Q.2 Find out in which of the options is the given figure embedded.

Question ID : 7230532967
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Q.3 Ammeter is related to current in the same way as Barometer is related to:

Identify from the given options.

Question ID : 7230532961

Ans  of 1. Pressure
< 2. Voltage




#< 3. Power
/< 4. Temperature
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Question ID : 7230532973

L
X 2 ==/ ATAT G AEY FeR TTF
X3 oS
v 4 TRIT A9S JAY oa1E

Q.10

Question ID : 7230532962




D’ & T 39gaa HHia T TAT Hi

NS ?

A B C D

[P
[0
~ [0
<[

Ans

Q.11 == 3k weria & oA 31g Faer 2 : 3 & oA & &1 6 I A 7Y N IFAS w4 5@ [
S| FeAe BT T I FA E?
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e diaee
@W arse e
fesa :
w T HF AT
wre wiwee
AT TFS (PR W) Ferere F B @ aew TeeE e §2

Ane X1 8 1,240
X2 $ 2480
V'3 $ 620
X4 $ 310

Q.13 ™ F7 ¥ Fewg 71 ¥ §| 7% AW FEF W wEwa F v @ ¥ 6 gueaes wiEe e
¥, & o waleow RibeT I S AT g FE| Question ID : 7230532969

Ans x1_
3T oI & 3 39 F F BT e g See

v &)




TEEE B B FET A 38 3ER & O G o Arew @ s & e

< 3
IOHT TEHT T F @ 35F IRAN F TSI FF BT FT

X « R BT B BT FHr

Q.14 === 3k = wig 1600 =l #1 v Tog wemdr & I W @ § veas 15 @ F e
T e ¢ WAE & el & @e fhaer 87
& e fawedt & @ W Wt

Ans X1 75
X2 25
V2100
X 4 50
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Question ID : 7230532965

Q16 Choose the odd pair of words.
Ans X 1. Physiology : Body
#< 2. Haematology : Blood
< 3. Cardiology : Heart
v 4. Mycology : Insects

Question ID : 7230532977
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Ans 1. P48
v 2 V48
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Ans
v | (O

Y
X 4
a
Q.19 ] A Bl b= Bed
rTaET e 1 GRS 98 3T A R T 9 B S l Question 1017230532968

;awm(ﬁﬂéa‘ﬁaﬁﬁqmﬁhﬁmzﬁrﬂ?ﬁ#m
Trafafas &) ez -
(1) =gAaH 65% 3T & @y va/ sifady wea TEa #
TSR BT TR
(2) 01-01-2018 & 26 a¥ & &H 3ilx 35 a9 ¥ A= =& a
(3) ¥ OTF 50% T 3770 3 & O S-Sl o
(4) @ s &1 F FH W wH 3 9§ # g g aieT
(5) #F ww 79 & Torw gfiden (feee) & T dar g oRe
iy emedt (3) % fof=T swWied wsi AvEsE = 9Of & & & 39
giEsar dafae & &7 & @fEse ar = g&ar 3
Ffy et (3) W (4) F wialea sOFa @l AvEEt A1 Qo Far
? ar 37 siaes dvfas § vy #3fEse o o7 g=ar 2
Tfe srearet W et F 7 st & e & Wy IR welt ATadE e
T & O 58 afss defaw ¥ w0 & i B s wewar # oy aremeif
T &7 12 I8t & e & T 390 T ATIEST Y quT AT § A
3 GEF JAT=F & 79 F i S s wwar g

AR 1 31/1/18 F 287 B, 37 91W A0 & e saeiias AR
TATTIca T ST &, S0 HFETH (el 3 ofr 75% T Hf0F 37 st
€| 30 T8 FS HgeE 74 8, g 98 Sl & v 99 % oo i
(FrreE) T B ¥ BT R # 3W frw oe F e s R o mear 7

e K afres defew
X 2 ﬁmﬁm
< Fefaew
v Fiass dafaw




Q.20 fryr 7o et & & TeT ¥ Swe ﬁm FT T8 I l Question ID : 7230532978

Ans  of 1 B4 : 256

<2 25: 125
<349 : 343
<481 : 729

Section : General Awareness

Q.1 &7 = 30 847 ¥ At well ¥ Tag IR THT T98T F & &1 )
Question ID : 7230532990

a. #l3 MR | e. IS
b. F&TE | f. FER
c. S g. 9T T
d. s h. FAEH

Ans of 1. d-g, b-h, c-e, af
X 2 d-f, a-g, b-h, c-e
X 3 ¢c-h, b-e, a-f, d-g
< 4 b-f, a-h, c-e, d-g

Q.2 Who among the following did NOT serve as the Prime Minister of India successively for a second time? |
Question 1D:7230532984

Ans "1 Manmohan Singh L

7< 2. Jawaharlal Nehru
« 3 Atal Bihari Vajpayee
75 4. Indira Gandhi

Q.3 =T 7 1974 3T 1976 F 53 710 gy & a9 A Fr T F A
Tediaia T f&am Question ID : 7230532991
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Q.4 . " . "
is the harmful substance found in carbolic acid. Question ID : 7230532996

Ans X 1. Red liquor
v 2. Phenol
/< 3. Lye
/< 4 Quicklime
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Question ID
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A 2 Ty e
< 3. FgeEny
<4 FETRERY

Question ID
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Q_1 1 Three of the following correctly describe existing types of mutual funds in India. Find the odd one out. l Question ID : 7230532994

Ans  of 1. Short cap funds
#< 2. Mid cap funds
< 3. Large cap funds
#< 4. Multi cap funds
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& T @EA &, 38 FAT FaT ST &2 Question ID : 7230532988

Ans
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v tH
X 3 i
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Question ID : 7230532989
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Ans J.Iﬂ?_gr
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Q.17 Which of the following does NOT fall under the classification of elements?

. Question ID : 7230532995
Ans X 1. Non-metals

X 2. Metals
\f3< Water
< 4 Metalloids

Q.18 If an asset is easy to sell or convert into cash without any loss in its value, it is called as:

, Question ID : 7230532993
Ans 1. Fluid Asset

v 2. Liquid Asset

#< 3. Financial Asset
< 4. Easy Money

19 . .
@ W A o3, sifEear # g Question ID : 7230533000

Ans J 1.
YefoTe Foas dat & e (rdrsdn)

X 2 fre =T WereA (SEEEL3)

X 3 HEARTSET S1F TS (AT

X 4. FreT TrReT WA (Seeg TaLa)

— —_—
Q.20 In 2015, scientists detected waves for the very first time using an instrument called LIGO.
A . : Question ID : 7230532998
ns X 1. electromagnetic
' 2. gravitational a

/< 3. sonar

X 4 seismic

Section : Arithmetic Ability

Q.1 3= 3ol 3T W 70% T FAT Fl FE H F 1% B3Ry TFor swk @ F 10% H g @
oty FEd a9 F 162% & g @, A ¢ ;AT W Question ID : 7230533005

Ans 1. 15
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Q.2 2 .4\ (089)2+064(153) 2 a4 )
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Question ID : 7230533004
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Question ID : 7230533010
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ans K1 71.6
X2 735
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Question ID : 7230533006
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A R A & A SH T 3760 1 v AR B ¥ 2 o v 3 ufEt = e feeen w gw ¥7

Ans o 1.7 11600
X 2. 12800
X3 T 15600
X 4. T 14400

Question ID : 7230533008
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X 4 8% grfer

Q.9 e cafem =1 360 Bl & Y 30 BT & o9 ¥ a7 w0 {1 IR TF A o W am F
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Ans
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A 17,4 33
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X37 332
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FHfeT §1 A 3k B #T 3T 7 &2

Ans 1. F 2500
X 2 72640
V2 T 2460
X 4 3 2400

Q.14 = o= o Faeren §1 3o F swer B o Rig ¥ 5T st B =gmee gt 16 o, 20
it A 22 7 ¥ e T dTwe 7 7 (TF Ol F Afenee) Question ID : 7230533018

Ans  of 11942




< 2 1840
<3 1964
< 42040

Q.15 _ p492 231 59 ; -
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Ans X1_ 7]
V28
X3 1
X 4

Q.16 91 ¥ UF W HAAHR oA, T das 16 ¥, =g 11 A oy Fnd 7 ¥k § +r Rreema
F S @ FIT G & T # arer A ¥, S S8 8 W ¥ a9 w1 wayt A s ¥ Question ID : 7230533017

(n -2 ey
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Ans

Q.17 &= =it & Teafe qor o=l 1 3d FA 2 : 3, 3: 4 38X 4: 58 AR ITH 5 302 F g | :
& SR ST ¥ SW R ST O F 1.26 siieT O & 318 e et e s d s eE ) Question ID : 7230533011

a7 ffe AT 9= #r 3 & | S 1 H WA

Ans X 1.3: 4

X24:5
adda

K42:3

Q.18 3um & 7 v el oG T 1764 # Tw & awe At & wterar S ¥ ofE w0 5%
¥ 3 e e ST & o 5T TR & S e few v, = Areeee b Question ID : 7230533013

Ans 1. ¥ 188
X2 T 224
X3 T 218
Vi % 248
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Section : General English

Q.1 Fill in the blank in the sentence given below with the correct option.

Ineed to what preventive measures are available o us at this stage of the disease.

Question ID : 7230533027




Ans X 1. ook down
' 2. look up
& 3. look forward to
< 4 look up to

Q.2 Select the indirect form of narration of the given sentence.

Ans

“Do you know that samosas, kebabs and pulaos came to India from the Middle East?" asked my friend Yasmin. “But the
use of Indian spices changed the original taste.”

Ko

Indian spices changed the taste of samosas, kebabs and pulaos although all these food came from the Middle East.

X 2

Samosas, kebabs and pulaos—all have come to India from the Middle East, my friend Yasmin informed me. But the use
of Indian spices changed the taste of these items.

v &)

My friend Yasmin asked me if T knew that samosas, kebabs and pulaos came to India from the Middle East. She further
added that the use of Indian spices changed the original taste.

X 4

My friend Yasmin told me that samosas, kebabs and pulaos came to India from the Middle East. But the use of Indian
spices changed the original taste.

Question ID : 7230533034

Q.3 Fill in the blank in the sentence given below with the correct option. )
Question ID : 7230533030
Shivani no sooner the book than her friend her.
Ans o 1. had ; opened ; called
< 2 having : opening ; calling
7< 3. has ; found ; call
7< 4 has ; open : call
_—— —_——
Q4 Fill; ; " ]
Fill in the blank in the sentence given below with the t Question ID : 7230533029
I to be rude either to you or to Amit.
Ans X 1. was not want
/< 2. have been wanting
7< 3. am not wanting
v 4 do not want
Q. 5 Select the PASSIVE VOICE form of the given sentence.

Ans

In India. some people consider keeping the Mahabl in the house i picious because it deals with bloodshed and
the break-up of a family.

F

Some people in India consider the Mahabharata inauspicious because it deals with bloodshed and the break-up of a
family.

X 2

As the Mahabharata deals with bloodshed and the breakup of a family, Indians consider the epic inauspicious.

X 3

In India people do not want to keep the Mahabharata in their house because it deals with bloodshed and the break-up of
a family.

v

In India, the Mahabharata is considered inauspicious (by some people) because it deals with bloodshed and the breakup
of a family.

Question ID : 7230533033

Q.6

Ans

Choose the best option to combine the given sentences into a single sentence.

The Mahabharata has a Jain version. In this version, the battle is between Krishna of Dwaraka and Jarasandha, the
emperor of Magadha. The battle is not between the Pandavas and the Kauravas.

Ko

Question ID : 7230533035




The Jain version of the Mahabharata highlight the battle of Krishna with Jarasandha.

X 2

In the Jain version of the Mahabharata, the Pandavas support Krishna of Dwaraka whereas the Kauravas support
Jarasandha, the emperor of Magadha.

v

In the Jain tradition of the Mahabharata, the battle is not between the Pandavas and the Kauravas but between Krishna
of Dwaraka, and Jarasandha, the emperor of Magadha.

X 4

The Pandavas supported Krishna of Dwaraka against Jarasandha, the emperor of Magadha and the Kauravas supported
Jarasandha in the Jain version of the Mahabharata.

Q_7 Given below is an incorrect sentence. From the given options, select the part that has an error.

Question ID : 7230533032

Babies given solid food along with milk from three months of age sleep best than those who are solely fed on milk,
finds a research study.

Ans x 1. gglel}i' fed on milk.

< 2. from three months
« 3. sleep best than those

7< 4. Babies given solid food

Qs From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence

given below. Question ID : 7230533025

1 feel like a fish out of water when my friends discuss latest fashions and gourmet food.

Ans 1. prepare false accounts

X 2 wild with excitement
W' 3. to feel uncomfortable
#< 4. use an opportunity to best advantage

Q_g From the given options, select the word that can substitute the underlined words in the sentence given below.

. ; - Question ID : 7230533026
‘We really don’t understand the pain of those who have to walk miles every day to get safe drinking water.

Ans X1 dribble
« 2. potable

< 3. reliable
< 4 edible

Q10 Detect the mis-spelt word from the given options. Question ID : 7230533024

Ans X' 1. pereaved
< 2 bemused
< 3. bestow

' 2 begining

Q.11 From the given options choose the one that means the OPPOSITE of

: Question ID : 7230533023
terminate.

Ans X 1. wonderful
v 2 introduce
#< 3. discontinue
< 4 distressing

Q12 Choose the passage that is correctly punctuated. Question D : 7230533036




Ans XT

Indians prefer retelling the stories of krishna’s childhood and youth with his mother yashoda and the gopikas.

v

Indians prefer retelling stories of Krishna’s childhood and youth with his mother Yashoda and the Gopikas.

X 3

There are many stories about Krishna’s childhood, his mother vashoda and the gopikas.

X 4

Indians prefer retelling the story of Krishna, his mother yashoda and the gopikas.

Q.13 Given below is an incorrect sentence. From the given options, select the part that has an error.

Question ID : 7230533031

Have you ever noticed how tired my looks sometime?

Ans X' 1. ever noticed

/< 2. Have you
< 3. how tired
v % looks sometime

Q.14 Fill in the blank in the sentence given below with the correct option. )
Question ID : 7230533028

A:Tam very hungry. Give me to eat before lunch time.
B: Have banana then. There are quite on the dining table.

Ans X 1. any : the ; many
< 2. anything ; a few ; much
#< 3. snacks ; some ; many

« 2 something ; a : a few

Q.15 From the given options choose the one that would me S.

anabble. Question ID : 7230533022

Ans

< 1. aggressive
< 2 hostile

+ 3 good-natured
# 4 unfriendly

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark. root.
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glory. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 16

@1 Choose the INCORRECT option.

Question ID : 7230533040

The qualities of the father and the daughter that
stand out are:
a. concern for others

b. sharp observation
c. greed for money
d. unselfishness
€. courage
f. patience
g. bad-temper
h. laziness
Ans X1 eflg
X2 bocg
K3 abf

vicgh




Comprehension:

Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine yvear old daughter Sumati, saw this while
crossing this track in search of bamboo shoots, edible leaves, bark, root,
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later. they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glory. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 17

Q.1 :
- Choose the correct option to complete the sentence. Question ID : 7230533039

Heavy rains had washed away a portion of the
railway track between and stations at

in Tripura.
Ans o 1. Mungiakami ; Ambassa ; Dhancherra
# 2. Kumarghat ; Ambassa ; Agartala
< 3. Dharmanagar ; Agartala ; Dhancherra
& 4. Udaipur ; Sabrum ; Agartala

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark. root.
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glory. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 18

Q; Choose the correct option to complete the statement.

Question ID : 7230533042

Swapan supports his family by collecting forest
produce and selling them. Yet on June 25, he stayed

beside the railway track for a very long time without going
about his daily routine. This proves that he

Ans Is acutely concerned about others and

v

determined to prevent a tragedy.
X2
Extremely idle and doesn’t miss an opportunity
to relax.

X 3
Doesn’t bother about his family responsibilities.
X 4

Wanted to get and save some money for his family.

Comprehension:




Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark. root.
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glory. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 19

Q.1

o Choose the correct option. Question ID : 7230533041

Why could Swapan not encash his cheques?
Ans J 1.

He is very poor and earns little money. He doesn’t
have a bank account.

X2
Swapan doesn’t believe in keeping money in banks.
He kept all his money at home.

75 3. There are no banks in Dhancherra village.

< 4. He doesn’t know about Aadhar card rules.

Comprehension:




Q.2
0

Ans

Read the passage given below and answer the questions that follow.

On June 15, 2018 heavy rains had washed away soil under a portion of
the track at Dhancherra between Mungiakami and Ambassa railway
stations. Swapan and his nine year old daughter Sumati. saw this while
crossing this track in search of bamboo shoots, edible leaves, bark. root.
stem and small aquatic animals which they sell to earn some money. But
that day Swapan decided to stay beside the track lest a train comes along.
The father- daughter duo waited for a long time, and with no track
inspection staff in sight, decided to carry on the vigil. Later, they heard
the whistle of an approaching train from Ambassa. Realizing that if the
train tries to cross the track--- made loose by the heavy downpour—it
could mean certain disaster, the two started running towards it, waving a
piece of cloth he had on himself. This caught the co-pilot’s attention and
nearly 2000 passengers managed to escape unhurt.

Since then, Swapan and his daughter have achieved celebrity status. The
other members of his family—his wife, four children and his parents—
are basking in reflected glory. The state government has already
felicitated them in the state assembly and both have been recommended
for a bravery award. Swapan has received over Rs. 70,000 in cash and
plenty of dresses, sweets and citations. He has also got cheques worth
more than Rs. three lakh from various institutions and individuals. But he
doesn’t know how to encash them. He has been unable to get an Aadhar
card or open a bank account because he is illiterate. Recently. all
formalities to open a bank account have been completed with the help of
local educationists.

SubQuestion No : 20

Complete the statement by choosing the cm;g__gg:t'fp

Question ID : 7230533038

The text is about

r

The recognition, awards and gifts that follow an act
of selflessness and bravery.

X 2
The state government of Tripura recognizing the
extraordinary achievement of an ordinary man.

A poor and illiterate father and daughter who
3.
saved the lives of 2000 railway passengers.
X 4
A brave railway linesman doing his duty against
all odds.
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v 414 TaaFaT 1949

Q5 g 7 Sl ST I AT F RS ANET B e I R Question ID : 7230533145
e K. St TR o R B A4 8w

v 2 3 S i ameT w8 2T

X g A & Rre Sefr g s B

p

A AT FH S e Bear 8, 98 Rl AE B g5

Comprehension:

e & a1T T Ff e YU TRANHREAR s Seg AT

S-S ARTEY H FT SAPROT 3o gAT ¢, FH-a8 G
Nt & Fag e AT gger @ 3T sh wgfeT sed o ¥
HeHAR, Aurer, foeea, &tw, affe afe w&at & 3% o=
Taea! 1 FER EHT g1 FifeeT F Fa e =
Terr g, &1 T omET F HTH & ACH &7 3 & g
IS AE & IRHH W A9 @R dASed § 3ad
TFeTcHAT T IAT Toll §, HFeadH AT & HeAR Hr iy
FT RO A T T 7aT 8, AT o Isu9 gigamsi &
e # A Reaaasar &1 o= Jgse R g, =%
F YT @ It & emaa # g Fer § sk vge St
% feaa ¥ 3@is sgHpy a7 ot @ seR e
SubQuestion No : 6

¢ arearer # 3UgF of¥e T gEm? Question ID 17230533153

Ans




v FEET FATIROT
% 2 gk

X 3. W giferar
X 4 3ER

Comprehension:

A & 71T argETer # TEE @ T WAl F ook ST

S-S HARAEY § AT SR Se9e g3 g, 3939 Qe
AT F TIE I AR T F 3R o g sear 7E B
TR, AT, foesa, e, afFe 3T St & 3w Jad
Tl FT 3&R AT §| Hifeed o1 9iéa srenes am=r =
Terr g, & oy omET F ATH F AeHr &7 3R & g
EIUTIC ATET & IS & A9Tel SEN aSall @ 3%
Tl H1 IaT Foll g, HPeaH M F FeAR A F2fey
FT GHIT FA & Teed a7 &, 9=y F o9 wigarsdt &
e i HY Reaaasar F1 eas HFse I g =
¥ YA ¥ FF-Idl & HewIa # e ey § v vger S
% fead ¥ 3= agHey di= It FHEER 5 8

SubQuestion No : 7

Q.7 .
FHR & Ty TfEr F =T =9 = g Taa T Question ID : 7230533150
Ans . TheeTH AT

XK 2 9. Mg WepedTa=

X< 3. &y, Tty eme
X 4 gITWE A

Comprehension:




Q.8

Ans

= & aTT IETT H TEH [T TH WA F Sca] ST

S-S HARAEY § AT SR Se9e g3 g, 3939 Qe
N F TIE T AR ged F 3R o g sedr 7E B
FUHR, AT, fesa, e, aF@e T vt & 3w Jae
Tl T 3R g3 g1 Fifeew F 9fg ardemes wmam v
Terr g, & oy orE F AW F AeH T 3R & g
LTI ATET & 9T & A9Tel SE aEed @ 3+
TcAT T IaT Foll ¢, HPeadH AT o HIAR HT T2Rfy
FT GHITT FA FT T AT &, 45T 7 3019 w@igarsdt &
oo $ HR Regaasar 1 ou= Hgse R 8, 3%
& YcaAl § TF-AUT F IHETIA H T fAem § R g S
% fead ¥ 3% sgaed dig 79t &1 3ER T g

SubQuestion No : 8

Aeaa & gHed It 7 3ER e Far? | Question ID : 7230533152

X 1. eI A

v 2 T HTpe T
X 3 I
X 4 =T

Comprehension:




Q.9

Ans

A & 71T argETer # TEE @ T WAl F ook ST

S-S HARAEY § AT SR Se9e g3 g, 3939 Qe
ATt F daE e T ged Y 3 o T sed e
FUHR, AT, fesa, e, aF@e T vt & 3w Jae
Tl T 3R g3 g1 Fifeew F 9fg ardemes wmam v
Terr g, & oy orE F AW F AeH T 3R & g
LTI ATET & 9T & A9Tel SE aEed @ 3+
TFeTcHAT T IaT Toll ¢, HEeadH AT o HeAR $r Jefar
FT GHITT FA FT T AT &, 45T 7 3019 w@igarsdt &
oo $ HR Regaasar 1 ou= Hgse R 8, 3%
& YcaAl § TF-AUT F IHETIA H T fAem § R g S
% fead ¥ 3% sgaed dig 79t &1 3ER T g

SubQuestion No : 9

Feorg EigaTT F eTIa H AR B oo A & | Question ID : 7230533151
. 0 "‘:‘E SUF QmEr e T

X 2 gITEIE A
v e
X 4 &, ol emEET

Comprehension:




A fodr AT sy #F e 9@ T ¥eAl F 3ea) e

S-S HARAEY § AT SR Se9e g3 g, 3939 Qe
Aifat F GuE w T ged i T o wgfem wed E F
FUHR, AT, fesa, e, aF@e T vt & 3w Jae
Tl T 3R g3 g1 Fifeew F 9fg ardemes wmam v
e 2, &Y. Tty oTE N & oW F Aeat #r 38R R g
LTI ATET & 9T & A9Tel SE aEed @ 3+
TcAT T IaT Foll ¢, HPeadH AT o HIAR HT T2Rfy
FT THITNT T T T AT 2, BT 7 3019 \igarst &
e B AR Rgaaasar &1 o= Hgse R g, 3=
& YcaAl § TF-AUT F IHETIA H T fAem § R g S
7 foesa ¥ a@% sgaew g ¥t 1 3@ R 2

SubQuestion No : 10

% ey F =i 22 [ Question ID : 7230533149

Ans o g & e
v Fifeey
X s gd
X4 orEr

Q.11 Students and teachers are agents of change in which of the curriculum designs? .
Question ID : 7230533158

Ans

# 1. Humanistic design
« 2. Radical design
#< 3. Child centric design

# 4. Experience-centered design

Q 1 When teaching strategies are flexible to the needs and interests of individual students, it is a typical example of which of

the following? Question ID : 7230533156

Ans 1. Project method
# 2. Language teaching
/< 3. Play way methods
« 4 Differentiation

Q.'I 3 Rashtriya Madhyamika Siksha Abhiyan is significant feature and an extension of which initiative into secondary

education? Question ID : 7230533155

Ans 1. Rashtriya Uchchatar Siksha Abhiyan
+ 2 Sarva Siksha Abhyan




< 3. Rajiv Vidya Mission
# 4 Sarva Siksha Mission

Q.14 What do the 3 ‘R’s indicated in the study of school subjects?

Ans

Question ID :

7230533157

/< 1. Reading. Remembering, Writing
/< 2. Reading, Writing, Recalling

' 3 Reading, Writing, Arithmetic

/< 4 Reading, Recalling, Revising

Q15 Team teaching is most appropriate when the:

Question ID :

7230533160

Ans  of 1. Resources are limited

< 2. Space is limited
#< 3. Technology is a constraint
< 4. School is newly established

Q.16 Which feature of the curriculum makes it adaptable to particular needs of schools and communities?

Question ID :

7230533163

Ans  of 1. Flexibility
/< 2. Experience driven
< 3. Inclusivity
/< 4 Content oriented

Q.17 Ppreference of one section of people over the o i
Ans X 1. Equality

v 2. Bias
< 3. Equity
/< 4. Stereotype

Question ID :

7230533159

Q18 photography is an example of:

Question ID :

7230533162

Ans 1. Performing art
# 2. Theatre form
< 3. Visual art
+ 4 Contemporary art

Q.19 Self-actualization and aesthetic needs are part of According to Maslow’s hierarchy of needs.

Ans

#< 1. Physiological needs

Question ID :

7230533154

& 2. Self-fulfillment needs
' 3. Psychological needs

< 4 Social needs

Q.20 ©\ain aim of Reading and reflecting on texts is to enhance: [

Question ID :

7230533161




Ans  of 1. Language competency
/< 2. Emotional intelligence
/< 3. Knowledge of content
< 4. Social skills

addazyT




